Kholloscope ECE1 Semestre 1

G1 | G2 | G3 | G4 G5 | G6 | G7 | Gs | G9 | G10 G11 | G12 | G13 | G14 G15 | G16
S EsH2[Ang1 |[EsH3| Fr2 |[EsH4] Esp4 |[ESHS EsH6 | Ang3 |[EsH7 | Fr1 |[EsHs] Esp2 [[ M1 M1 |Ang2|[ M2 | Fra |[ m2 [Esp1 || m3 M3 |Ang4|[ mMa | Fr3 |[ m4 [Esp3
03/09 1 T " " 12 12 12 2 ([m02] 13 [[T02| 13 [[T02| 13 |[T02| 13 [ TD2]| 14 [[7TD2| 14 [ TD2| 14 || TD2 | 14
T
1?[’?’)9 M1 (Ang4|| M1 Fr1 M6 | Esp2 || Mé M7 [Ang2 ||| M7 | Fr4 M4 |(Esp4 || M4 ESH1|Ang3 || ESH2| Fr2 ([ ESH3 | Esp1 || ESH4 ESH5| Ang1 ||ESH6| Fr3 || ESH7 | Esp3 || ESH8
2009 (| T02 | 12 [f7p2 [ 12 [[Tp2| 12 |[T02| 12 |02 | 13 [[7D2| 13 || TD2| 13 || TD2| 13 14 14 | 14 | [ 14 |
1
T
53 [[Esn2| Fra ]| EsHa| Esps | EsHa EsHs|Ang1 |[EsHe | Fr1 [[ESH7[Esp4 |[ESHs EsH1[Ang2][ M2 | Fr2 |[ m2 [Esp1 |[ m3 M3 |Ang4|[ ma | Fr3 |[ ma4 Esp2|| M1 M1 |Ang3
27109 13 13 13 13 14 14 14 14 || TD2 02| n [[wo2] n |[to2]| n |[m02] 12 12 ||| TD2 12
T
54 [Tme | an [ me M7 [Ang1]|[ m7 | Fra || M4 [Esp3 || ma M1 |Ang4|[ M1 | Fr2 |[EsHz2] Esp4 || ESH3 EsH4 | Ang3 [[esnHs| Fr3 ||| EsHe Esp1 ESH7 EsHs|Ang2[[EsH1| Fr1
oai0| T02 | 14 [[TD2 | 14 || 02| 14 || TD2 | 14 || TD2 llTo2 [ n |fvo2| 1 || 02| n 12 12
1
.55 [Esks EsH4|Ang3|[EsH5[ Fr2 |[EsHe | Esp4 [[ESH7 EsHs [ Ang1 |[EsH1] Fr1 |[EsH2]Esp1 [[ m3 M3 [Ang4|[ ma | Fr3 [[ m4 [Esps|[ ma Angz|| M2 | Fra || m2 [Esp2
11110 T T " " 12 12 12 2 ([mo2] 13 |[T02| 13 [[T02| 13 |[TD2 | 13 || TD2 | 14 14 | TD2 ™2 | 14
T
S8 M7 |Angt || w7 | Fra || w4 [Esp3 || ma M1 [Ang2|[ m1 [ Fr1 [ me [Esp2 || me EsH3 | Ang4 || EsH4| Fr2 [[EsH5] Esp4 || ESHE EsH7 | Ang3 [[EsHs| Fr3 || EsH1[Esp1 || ESH2
1giol| 702 | 12 |[Tp2 | 12 |{t02| 12 702 | 12 [[TD2| 13 |[TD2| 13 [ TD2| 13 [[TD2| 13 14 14 | 14 | [ 14 |
1
T
.57 [EsHa] Frt | EsHs | Esps || EsHe EsH1]Ang3 |[EsHs| Fr3 [[EsH7[Esp1 |[ESH2 EsH3[Ang1 | m4 | Fra |[ w4 [ Esps ][ m1 M1 [Ang2|[ m2 | Fr2 Esp2|| M3 Angé
08/11 13 13 13 13 14 14 14 14 || To2 |l 02| 1 [ TD2 2| 1 |[to2| 12 [[T02] 12 || TD2 ™2 | 12
T
(8 [ma | an || ma M1 [Ang2][ m1 | Fr2 || M6 [Esp1 || me M7 |Ang1|[ M7 | Fr3 |[EsH4| Esp4 || ESHS EsH6 | Ang3 [[EsH7 | Fra |[|EsHs| Esp2 |[ESH1 EsH2 | Ang4 || EsH3| Fr1
151|702 | 14 || 02| 14 102 | 14 [[ TD2 | 14 || TD2 ll/o2 | n |fvo2| 1 |[™02] n 12 12
1
1391’1 ESH5 ESH6 [ Ang1 |||ESH1| Fr2 ||ESHS8 | Esp2 || ESH7 ESH2 [ Ang4 || ESH3| Fr1 ||ESH4 | Esp4 [[[ M1 M1 [Ang2|| M2 | Fr4 M2 | Esp1 M3 Ang3|| M4 | Fr3 M4 | Esp3
22111 1 T " " 12 12 12 2 ([mo2] 13 |[T02| 13 [[T02| 13 |[TD2 | 13 || TD2 | 14 14 | TD2 ™2 | 14
T
Sto [ M1 |Ang3 | m1 [ Frt || w6 |espt || we M7 [Ang2|| m7 [ Fr3 [[ m4 [Esp3|| ma EsH5| Ang1 || EsHe | Fra [[EsH7 [ Esp2 || ESHS EsH1| Ang4 |[EsH2| Fr2 |[EsH3|Esp4 |[ESHA
291|102 | 12 |02 [ 12 [[Tp2| 12 |[ 02| 12 |[7TD2| 13 [[7D2| 13 || TD2| 13 || TD2| 13 14 14 | 14 | [ 14 |
1
T
Si1 [EsHe | Fra || EsH1 | Espt || ESHS EsH3 | Ang3 || EsH2| Fr2 [[ESH7[Esp4 |[ESHA EsH5|Ang2 [[ M2 | Fr1 || m2 [Esp2|[ m3 M3 [Ang4|[ ma | Fr3 Esp3|| M1 Ang1
06/12 13 13 13 13 14 14 14 14 ([ TD2 (w02 | n 2| n [fwo2]| n [[7o2] 12 12 |[ TD2 12
T
Sz (M | An || M6 M7 [Ang1][[ m7 | Fr3 || M4 [Esps || ma M1 |Ang4|[ M1 | Fr1 |[esHe|Esp1 || ESH7 EsH8 | Ang2 [[EsH1| Fra ||| EsH2] Esp3 || ESH3 ESH4 | Ang3 || EsHs | Fr2
1312|702 | 14 || 02| 14 |02 | 14 [[ 702 | 14 || TD2 ll/o2 | n |2 | 1 || 02| n 12
1
T
Sts ||EsH7 ESHS8 | Ang2 ||| EsH1 ESH2 | Esp4 || ESH3 ESH4 | Ang1 ||| ESH5 EsH6 | Esp3 || m3 Il m3 [Ang3|[ m4 M4 Esp2 M1 Ang4|| M2 M2 |Esp1
10/01 1" 1" I 1" 12 12 12 i2 |lt02| 13 [lwo2| 13 || 02| 13 14 | TD2 D2 | 14
Sta M7 [ang1 || w7 M4 | Esp3 || ma Il m1 [Ang2][ m1 M6 | Esp1 || me ESH7 | Ang4 || ESHs ESH1 Esp2 ESH2 ESH3 | Ang3 ||| EsH4 ESHS5| Esp4 ||| ESHs
azio1|[T02 | 12 |[tp2 | 12 |{t02| 12 {702 | 12 [[TD2| 13 |[TD2| 13 |[TD2| 13 [[ TD2| 13 14 14
1
T
St5 | ESHs ESH1 ESH2 ESH3 ESH4 ESH5 ESH6 ESH7 M4 Il ma M1 M3
24/01 13 13 13 13 14 14 14 4 || To2 llo2 [ 1 |72 | 1 |[™02] n | ™2 | 12 || D2 | 12 | 2| 12 [[To2| 12 |




	Kholloscope

